AL E| O = 2[A 0]

201611012 22l At
201611002 AICHA:
201710928 dtZl:

o

?:lo:":

201810915

100%

om

o x
In &£ oA

Z
T



: 100%
WAL F Q 07:00 PM

0060

NE S21 X =8 e =4 ® oy OHZElZlold  oiZ2lAHolld AlA

8 7|5 2 2 7|2t




100%

07:00 PM

1Ho

ke
ofl

F

al
o

7H
|

|7 0] 4

el

=
=0 Hel

SHAH
of

L|E| Of
ol

o

el

o HEL|E| of

st
7HE o]

=
o

2l
o

al

<
joll
ofu
Ho

ol M #&eh &

joll
Mr

ot



otC 20|

Studio

L Kotli

Firebase

[=) Retrofit

f\ o
o@dc
oXOres

AN

MySaol:




o [~N]
= Q 07:00 PM

#02 70 1"

Ol =2l 7| 0] Ofi =2|7lo]d

xX7| gle
=12l RIQEA HIS M7

0
o
K=
l
Jo
0=
ot
o

2Kt 7H'E 3%t 7HE

100%

— Aol D sHs|o}

% WiEt HAE
A
| — |

= ZHI0|E 0



JIR (0) 07:00 PM 100%

2E HAIX| S5

Y eFirebase

Cloud Messaging



#03 H|O|E{H|0] & A 7|0}

I

 lisk_id INT

@ user_id VARCHAR(20)
> body ¥ ARCHARL 100)
o lisktCheck INT
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Indexes
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id VARCHAR{ 20)
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year INT

“orole WARCHAR{20)
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> regdate TIMESTAMP
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